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Context On->Off

y| Determine the inverse z transform of the following expression:
1 —1

A — T ¢ Z .
: 4 .« .« x[n] is absolutely summable.
Start interactive calculation.
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4 [F] worksheet

|Problem (Isac, [Inverse, Z Transform, SignalProcessing])

NEXT AUTO

D|X2=2/(z-1/4*(1/z))

Dl?X'z=2/(z*(z-1/4*(1/2)))
|

l__,.lProbIem (Isac, [partial fraction, rational, simplification])

D|2/(z*(z-1/4*(1/z)))

D|8/(-1+4*z"2)

solve (-1 + 4%z~ 2=0,2)
? |j|

D|-1+4='tz"2=0

D|z=(0+sqrt(0-4*4*-1))/(2*4) lz=(0-sqrt (0-4*4%-1))/(2*4)

z=1/2]z=-1/2
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